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But it is 829 who maintains that 1"92 was instituted since there
are no witnesses available to authenticate the signatures.

OVERVIEW

The X713 teaches us that a vi which is sent within X1n7 requires 1"92. There
is a disagreement whether this is only X07Y? X09¥» as AR 72 7727 maintains,
Or even 11DWY A119Wn as NWW 27 maintains, or as X237 states even 710w NINA.
The X773 challenges X27; how can he maintain that in X777 one is required to
say 1"93; it is in the same city and certainly there are M»p% ™xn o*7v?!
moon will be discussing this question, and why the X723 asks it only on X237
and not also on NYW 27 MaX 12 727. Finally mooin will explain what the
X722 answers.

nooIn asks:
= 11P9 XN NN NNYY PNIPA PRY 29D N9 920 1IN INT YNRYNT NYP

There is a difficulty in understanding this question, for it seems that if X249
would have maintained that the reason for saying 1"92 would be because
they are not acquainted with the requirement of mmwh, the X3 would

have been satisfied" that x11 requires 153 even in the same 7315 -
- AAWY PNPAT NOD 5221 NPINM NAY ININ)

But why is this so; X1 is part of %22 where the people are amwh Ropa.
Why would X271 require them to say 1"92 (even) in the same 7110w?!

MooIN answers:
= D©%9) N2 NIYT Y23 Y2IYUN KDY PONPDI PUIND RNPYT 910 YU

And one can say; that perhaps concerning the laws of Pu°3 and lineage’
the city of X1nn was not considered part of 22 because converts are

common there. The converts are presumably not 7w 7X°?2 (and the inhabitants are

[therefore] of questionable lineage).
= H91992 951 93 NMINNA WIITT NIT 229 22) (x)y 91 PYITIPT NN P99 ¥IvYnNTd

As is indicated in the last P99 of w73 Nd0»1 concerning the episode with

" The s'xm3 question was; how can X121 require 1"52 in the same 719w, since he maintains the reason of ovp.
This infers that if he would maintain the reason of 7nw», there would be no contradiction.
2 This is referring to the legal status the inhabitants of a locale have, in regard to whom they may marry.
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X7°1 '3, who taught in X1 that a 93 may marry a naman.’
- 923 HY DN PP NT PNT YRYN
This indicates that X1 was not of the noblest lineage of »23.* Therefore had

X217 maintained the reason of w2, it would have been understood why he requires 1"92
even 1DV 7NIR3, since the X1nn °12 are not 7nw? ‘(’N’p:.s

MooIN anticipates a question:
= HYY 291 MAN 93 139D 799910 3811 NINT P40 NI

And it is equally true that the X3 could have asked the same question

(that it asks on ¥27) on 2R 92 7739 and MWW 29; why do they require X0wn 1"92
X0IWY or INOWY n1own respectively, since they also maintain the avw of orp.

mooIN goes on to explain how we know that nww 2171 172X 72 727 both agree that 192 is
on account of o1p.
= 5P 1921819 DY PRY 29 9INT NI 923 11T X2 N9 Jy1

For we must conclude that they too agree with 839 who maintains that

1"92 was instituted (only) on account that there are no 27p% M3» 277V,
= 199987 9133 NNNAY NMNI 192N 999) XY 23N NNV PNYPA PPRT QIVN ONT

For if they maintain that 1"92 was instituted (also) on account that some
people are not 7»wh X2, and these people of Xnnn are not versed in

WY, then they should require 1"52 even in the same 7315w, if they assume
that the people of Rnnn are not w5 PR°PA. Since they do not require 7210w 7NIR2 152,
this proves that they do not maintain the reason of Anw", only of o1p.® The question on
NWW 27 MR 72 727 then is; why do they require 1"52 in the same city X07v% X07Wn or
n1owH Inown. There are seemingly 1P 11%n 7Y,

Why indeed does not the X773 ask this question on 2K 72 727 and nww 277!

mooin replies:

* The 77 states: '3 9p2 2 X1 &9, Therefore 03 who, according to X7°1 ', are not part of 71 71p, are
permitted to marry a7, He taught this in X111 because 0’73 were prevalent there.
* Otherwise why was it so important for the X723 to tell us that X1 '3 taught this rule specifically in Xnmn.
Others say that the proof is from the conclusion of the X713 in 1"w17°p which states, that upon hearing this
7wa7 from X771 M, the people stoned him with their 2°x1nX. The people of Xnnn, who were 0”3, were
insulted that he considered 0> not part of 71 977 and therefore permitted to marry 2°7mmn.
3 See 71T AN 3"X 7"7 2,2 *"wA, that 1"92 will be required according to 7127 (only) NAX AITA2 1YY VY.
This seems to be at odds with what moown infers here. Perhaps 'oim »"wn go anww% concerning the
interpretation of 717xX7 X177 1127 See following footnote # 6. See ‘“Thinking it over’ # 4.
% Once moon has inferred that the wwn of 7w would require 152 even 7MW MK, then we may assume
that nwWw 271 MaX 12 17127 do not maintain the avv of nnwY. See previous footnote # 5.
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- %97 NY1HA %Y FNT X291 7999 799 NN*IT NYN
However the X 13 prefers to ask the question from K29, for he clearly

states that 1"92 is on account of 01°p. We do not need any inferences, as by 2R 12 1727
nww 2M.

mdoIN continues and explains the answer of the X na:
= 279937 NTINM 22 INY UM

The X723 answers its question in the following manner: The people of X172

are unusual in that they continually travel away from the city -
= TNOHND 299991 1NV POMNY ROIYY XDIYM NIAN 92 N9 TP981 795

Therefore max =22 1727 requires 1''s2 when a 03 is sent XY ROW? in
X1, because those people, from the X07Y where the v3 was sent from, who

recognize the signatures, leave xnmn -
- DYV DMPY BN PN T2 PN NINNX XYY 22Y 11250 YNV oNp

Before their departure becomes known to the residents of the other X0y
where the vx was received, and therefore the people who received the v

are not forewarned to be 2% their VR or vi -
- 1N9’YN ONP

before they depart. Once the n»nni »°on, from the X0 from where the v was

sent, depart, we have no way to be 0pn the “ow.’
= 79981 7Y KD NMNOYY NNHWN HaN

However, when a v3 is sent 7192@% 719w» in the same X0y, then 92 727

M2X would not require 1''52 -
= 199590 0P DP NYUNRN NHYHIAN 19%3N NIHNA THN U PYT» RDIY NXDIDAT

For in the entire 809y, even in the various M11DW in the X07Y everyone is
aware when their colleagues depart and the woman who received the v

will request 21°p before their departure.’®
= RDIY NNIND 1PN WYIN NYY 299

And nww 29 is concerned even in the same X®9Y. If the vx was sent 71oWn
n1owY they will not be aware when the 70w 12, from where the v was sent, will depart.

7 It would seem that only the Xo7w *12 from where the 3 was sent are 7°2» the nvnn. See the following
footnote # 8.

¥ Moo could have possibly said that according to max 72 727 we do not require 7N2WY AN2WH 1"52 because
in the same X07Y many of the X07¥ "12 recognize the n°nn of the other X07Y °12 even from a different 7115W.
Since m»poIN did not say this, it seems that even the people of the same X017y do not recognize the nmn ni of
NANR AN0Y °12. Only the people of the same 7115w (generally) recognize each others N> ni. Therefore Mson
says that even though only the other 7110w °12 know the m»°nn, nevertheless since all the X097 °11 are aware
when anyone leaves, she will request 01°p before they leave.
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She may therefore miss the opportunity to be 2»p» her vi from the other 7212w °12.
$11999Y NNIND 1DON N2

And R29 was concerned even in the same 7319w, that the nwx will not know
when the Mn°nna >772n will depart.9

SUMMARY

The X713 assumes that in X177 they are not WY PR°P3, since there are many
o2 living there. This explains the question on X27; how can he maintain
that in X111 one is required to say 1"92, if X297 maintains that the reason for
1"92 is o1p. For if X217 would agree that the reason is % we would have
understood why in X111 he requires 1"92.

The X713 asked on X217 only, even though the same question applies to 727127
nww 27 MR as well, since he clearly states the opinion of 21p.

X271 DWW 27 ,M2R 72 727 all require 1"92 in XN since the people of XMnn
depart the city frequently and those that know the 2>7v77 n°nn may depart
before the woman will be aware of their departure. 712X 72 727 maintains
that only R07¥% R0I¥n are we unaware, NWY 17 maintains that even 7110Wn
Tnwoh we are unaware and X217 adds that even 11DW NIR2 we may be
unaware when the m»°nni o1 will depart; leaving us without the ability to
be 0»pn the va.

THINKING IT OVER

1. What are the differences between >"w7 and Md01n in the interpretation of:
7717 K1 232 aRw? '

2. What are the advantages of either interpretation?

3. Must mpoIn agree partially with s™"wA interpretation?

4. Explain what may be the anu>w® of 'o1n *"w9 mentioned in footnote # 5.

? It seems that 821 is Ww1r that the entire IN2ws 12 who are 1°on the NN may leave before she realizes it,
and there will be no one left to be >pn the va.

10See n"m.
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